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AT 3397 :
feAforRaa FHEeT &1 aga AragT=t @ aieq ST et TTer Iy :

1.
2.

®

NS A

59 J9-U7 4 38 ¥ &1 qHt 397 7fAart
Y¥-97 e @Usl § [auifora 8 - @vs &, @, T, 9 I g |
Gus & H Y G 1 § 18 T%F Sglascdid aoT v §&T 19 TF 20 HWHIT T FHRIT
HTIRT TH-Teh 37 & 997 81
Gus @ § Y37 &A1 21 § 25 a9 3Afd ag-3a9GF (VSA) T#R & gl-gl 37l & 997 8|
QUE T 4 I GEAT 26 @ 31 d% AG-IRI (SA) IHR F dl-ciT 3l & g9 81
QUs g § Y97 G&a1 32 35 % G-3RI (LA) IR & Gra-vi< 3l & I3 3/
GUg T I Y97 G&IT 36 G 38 GId/TehIUT ShT3 STUTRA TR-TR 3Tl & J97 8/ Tl
fareheq 2t-gt 37ehl & Je @ faar 81
Y99-99 § Y fdey &l 1oa1 797 81 JEfU, @US & & 2 Yv °, @IS T & 2 I 4,
GUS T & 2 Y § a9T GUS € & 3 I 7 R faeheq &7 Jiae foar 7 81
g STEYIF & T TR FH1Y| Alg TavF & @ x=22/7 Wl
FAFI P IFINT Aot 3l

EQug — &h

TUE - % W Sgfasheda YRR % T § 3R T T T 1 3 2

1.

WE@@W%WWP(E#D:%%,?ﬁP(E)W%: 1
@ < ®) © 0 @ 3
qﬁa@qﬁp(x)zx2+5x+6%,ﬁ p(=2)FUNAE : 1
(a) 20 (b) 0 c) -8 d 8

Test 2,3,3,4,5,4,4,5,3,4,2,6,7 1 G5F @ 1
(a) 2 (b) 3 (c) 4 (d) 5

T ga W oo w forg @ 99 W TRt TRt Tl Efi=t S wehdt B 7 1
(a) Th (b) = (c) ¥k (d) =

e femma wiertor, foment e gt 2 SR gel o 9w g R, R 1
(@) X*’+4=0 (b) X*—2=0

(c) 4x*—1=0 (d) x*’—4=0

= # 9, feama i adie ? 1
(@) 2(x-1)*=4x*—2x+1 (b) 2x —x*=x*+5

(©) (V2x+3)Y+x*=3x"=5x (d) (F+2x)° =x"+3 +4x°

s Tgama avfiertor freh S[rel T AT 3R UGS A9 2 3R -1 %, 7 ¢ 1

(@) x*+2x+1 (b) x*-2x—1 (c) x*+2x-1 (d) x*-2x+1
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General Instructions :

Read the following instructions carefully and follow them :

This question paper contains 38 questions. All questions are compulsory.

Question paper is divided into FIVE sections - Section A, B, C, D and E.

In section A, question number 1 to 18 are multiple choice questions (MCQs) and

question number 19 and 20 are Assertion - Reason based questions of 1 mark each.

In section B, question number 21 to 25 are very short answer (VSA) type questions

of 2 marks each.

In section C, question number 26 to 31 are short answer (SA) type questions

carrying 3 marks each.

In section D, question number 32 to 35 are long answer (LA) type questions

carrying 5 marks each.

7. In section E, question number 36 to 38 are case based integrated units of
assessment questions carrying 4 marks each. Internal choice is provided in 2
marks question in each case study.

8. There is no overall choice. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D and 3
questions in Section E.

9. Draw neat figures wherever required. Take © = 22/7 wherever required if not

S A W~

stated.
10. Use of calculators is not allowed.
SECTION - A
Section - A consists of Multiple Choice type questions of 1 mark each.
1. Let E be an event such that P(not E) :%, then P(E) is equal to : 1
1 2 4
@ 3 b) 3 (c) O @ 3
2. If p (x) =x*+ 5x + 6, then p (— 2) is : 1
(a) 20 (b) 0 (c) -8 (d) 8
3. The mode of the numbers 2, 3,3,4,5,4,4,5,3,4,2,6,71s: 1
(a) 2 (b) 3 (c) 4 (d 5
4. How many tangents can be drawn to a circle from a point on it ? 1
(a) One (b) Two (¢) Infinite (d) Zero
5. A quadratic equation whose one root is 2 and the sum of whose roots is
Zero, 1s: 1

(@) x¥*+4=0 () x*-2=0 (c) 4’-1=0 (d) x*-4=0

6. Which of the following is not a quadratic equation ? 1
(@) 2(x-1)y=4x* -2x+1 (b) 2x— x*=x*+5
©) (M2x+3)P+x=32-5x (d) (P+2x)?=x"+3+4x

7. A quadratic polynomial whose sum and product of zeroes are 2 and —1
respectively is : 1

(@ xX*+2x+1 (b) x*-2x-1 (¢) x*+2x—-1 (d) x*-2x+1

430/4/2 3 23 [P.T.O.
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11.

12.

13.

14.

15.

16.

17.

18.

430/4/2 4 =5

gt 30 3R 70 & fofw (HCF x LCM) SR 2 :
(a) 2100 (b) 21 () 210 (d) 70

e 14 oft. It g9 H TF T A FEE, A F hg W 60° F RO
AN AT 7, ®

(a) %@ﬁr (b) %@ﬁ ©) %aﬁr (d) %aﬁ
T ALYGARR A1g ki B Al 7 G, 7, 1 39 <A1¢ 1 IR FAT
(@) 113, (b) 1435, (c) 22, (d) 36

15 1. 39w % we- g @ 1543 . i gl W @ &k g § dw &
Rret =1 3T R

(a) 30° (b) 45° (c) 60° (d) 90°
(% sin0° —g cosooj TR B :

2 —4 —2
@ 3 (b) = © 0 @ 45

52 Ui 1 3= TP ¥ B TS Tk TG H Y Uk U1 A1geAT e St 2l
TH U o UM 1 JICTE B shl TTRIehdT 91 & ?

(@) < b) 5 © 15 @ 1

T (5 - 3/5+5) T :
(a) Uik 2 (b) ufdm e g (c) sufwm e g (d) qof 9 8

e x —y=l,x+hy=5SRers ol gm w afgdaga x =2, =138, @
k1AM g :

(a) -2 (b) -3 (c) 3 (d) 4
Ife AABC ~ADEF 2 3R LA =47°, /ZE=83°%, @ LZC IR % :
(a) 47° (b) 50° (c) 83° (d) 130°

3 oft. B Ot w99 % uw o fag A @ i v oo T f e
s R e Rg g Adig e

(a) 7 @i, (b) 5 T (c) 7o (d) 25 @,
x+2y+5=03WR-3x—6y+1=0IRaeh girtor I 1/ :

(a) Sfgdia &<t Bra 2 (b) 3 3 & B

(c) 3k & 8 (d) =13 & &l el ®
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8. (HCF x LCM) for the numbers 30 and 70 is : 1
(a) 2100 (b) 21 (c) 210 (d 70
9. The length of the arc of a circle of radius 14 cm which subtends an angle of
60° at the centre of the circle is : 1
(a) 44 cm (b) 88 cm (©) 308 cm (d) 616 cm
3 3 3 3
10.  If the radius of a semi-circular protractor is 7cm, then its perimeter is : 1
(a) I1cm (b) 14cm (c) 22cm (d) 36cm
11.  The angle of elevation of the top of a 15 m high tower at a point 15 NER
away from the base of the tower is : 1
(a) 30° (b) 45° (c) 60° (d) 90°
2 ., 4 o) :
12. 3 sin( -3 cos0” | is equal to: 1
2 -4 -2
@ 3 (b) —- (c) O @) 15
13.  From a well-shuffled deck of 52 cards, a card is drawn at random. What is
the probability of getting king of hearts ? 1
1 1 1 12
@ = b) 5¢ © 13 @ 3
14.  The number (5§ — 3 \/§+\/§) 1s 1
(a) an integer (b) arational number
(c) an irrational number (d) a whole number

15.  If the pair of linear equations x —y = 1, x + ky = 5 has a unique solution

x =2,y =1, then the value of k is : 1
(a) — 2 by -3 (c) 3 (d 4

16. If AABC ~ ADEF and ZA =47°, ZE = 83°, then £C is equal : 1
(a) 47° (b) 50° (c) 83° (d) 130°

17.  The length of the tangent from an external point A to a circle, of radius
3 cm, is 4 cm. The distance of A from the centre of the circle is : 1
(a) 7cm (b) Scm (c) 7cm (d) 25cm

18.  The pair of linear equations x + 2y +5=0and —3x—-6y+ 1=0has: 1
(a) aunique solution (b) exactly two solutions
(c) infinitely many solutions (d) no solution

430/4/2 5 23 [P.T.O.
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(erfireRer — @eh TR o U9)
T HEAT 19 991 20 H TH AT (A) % 9¢ T dw-we" (R) femn g i d @
Hﬁ%ﬁqﬂﬁﬁ:
(a) e (A) @1 T (R) gHT T 81 ah (R), 1feped (A) i I =ame s 2|
(b) AfYReA (A) @1 @ (R) gHT T 81 @ (R), 31UheH (A) Y Samen T&f L 2|
(c) AfRYA (A) ¥ & Tg @ (R) 319H 7|
(d) 3tfirepem (A) @18cd B Sk @ (R) &d 2l
19. sifteRem (A) : afg fgama st 40 — 10x + (k — 4) = 0 1 T 4 g
T T GoshA B, Al k T A 8 BRI
ek (R) : feama wefiertor x> — x + 1 = 0 % 9o ar&dfae 2|
20.  SITUHAT (A) : IO * TRt forg o Taxt W@ wowi foig & S At Been e
it 2
TF (R) : T I0 & aTe feod O foig & 30 W €= T3 TRl @i 6 v
THETH B 2|

T e - @

@UE - @ H 31fd Tg-3IW (VSA) TR & U9 & 3 Tk U9 & 2 37k El

21, (A) from o 3x2—2x+%=0w%ﬁwmaﬁﬁqaﬁtﬁmaa;q§ﬁ
=1 el FTd =hiferg

HYAT
(B) fgama @efiertor x> —x — 2 = 0 % 9 714 hifg)

22. WA W S AR § FwEM: OP, OQ 3R OR W feua
fog A, B 3R C 38 =R & f& AB||PQ 3R AC||PR 2|
zeige % BC||QR 2!

23. aﬁsina=%%,?ﬁ(3 cos o — 4 cos’ o) T I F1d i)

(A) 36 foig & e wma Afre st fogati A (-1, 7) 3 B (4, —3) 1 e
AT TGS i AN & 8 2 : 3% I | foavifira vt 2|
JAUAT

24.

=
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(Assertion - Reason type questions)

In question numbers 19 and 20, a statement of Assertion (A) is followed by a

statement of Reason (R). Choose the correct option :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) gives the
correct explanation of Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true but Reason (R) does not give
the correct explanation of Assertion (A).

() Assertion (A) is true but Reason (R) is false.

(d)  Assertion (A) is false but Reason (R) is true.

19.  Assertion (A) : If one root of the quadratic equation 4x* — 10x + (k —4) =0
is reciprocal of the other, then value of k is 8.
Reason (R) : Roots of the quadratic equation x* — x + 1 = 0 are real. 1

20.  Assertion (A) : A tangent to a circle is perpendicular to the radius through
the point of contact.
Reason (R) : The lengths of tangents drawn from an external point to a
circle are equal. 1

SECTION - B
Section - B comprises of Very Short Answer (VSA) questions of 2 marks each.

21. (A) Find the discriminant of the quadratic equation 3x* — 2x + L) and

3
hence find the nature of its roots. 2
OR
(B) Find the roots of the quadratic equation x* —x — 2 = 0. 2
22. In the adjoining figure, A, B and C are points on
OP, OQ and OR respectively such that AB||PQ and
AC]||PR. Show that BC||QR. 2
23. Ifsina= %, then find the value of (3 cos o — 4 cos’ a). 2
24. (A) Find the coordinates of the point which divides the join of
A (-1, 7) and B (4, -3) in the ratio 2 : 3. 2

OR

430/4/2 7 23 [P.T.O.
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(B) afc =g A (2, 3), B (-5, 6), C (6, 7) 3R D (p, 4) T% THIR Fg4s
ABCD % 3fi¥ &, @1 p &1 O 31d hiferg|

JRId H G 3TER, PA 3R PB g0 W T M
@t € i a7 @1 g O R
fog i s ZAPB=2 ZOAB

@ug -

@UE - TH AY-3ITR (SA) THR % U9 § 31 TIAF U9 & 3 3k 2|

26. T 7 @t 91 U g9 o SUE@S F TR A hISIT, TTEH hg hil
90° 3| T &1, TG <™ eugs w1 &%a o 7 Hifsg)

27. A o, B fgEma @O x? — 5x + 6 % YA 7, A U fgETd GHISROT A
28. U UTH I U R Hebl 1A | Fefead s ume s S aiRReRar ma i
(i) s gn FasT g (i) 4 9 9 gE (iii) e fowm gemn

2. fag bR TECA o 2a
I1+cot A
30. (A) fag Hife o o fog @ 99 = @i=t 7§ ww
[@Tstl il AT T B B
Jrera 0
(B) %5 O % q Hehad Jai sl Bamd 3 @l 3R
s @ft. 81 9 I HT Sftar AB, S B I HI g ) 5 y
P R wsf Tt B, i ofwems 7 HFifs \_/
3, A)IRTFH S AT 1 TeIamRT T 1 ger e, d@ i 1 ¥ e St
af w1 e d, A L @ o ¥ e fom 2
Jrera
(B) ‘k’ = form o & forw fo e arfieor gm =1 18 &< =161 &nm 7
3x+y=1
Qk—1)x+ (k- 1)y=2k+1
430/4/2 8 =5
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(B) If the points A (2, 3), B (-5, 6), C (6, 7) and D (p, 4) are the vertices of

a parallelogram ABCD, find the value of p. 2
25. PA and PB are tangents drawn to the circle i
with centre O as shown in the figure.
Prove that ZAPB =2 ZOAB. 2
P 0
B
SECTION - C

Section - C comprises of Short Answer (SA) type questions of 3 marks each.

26. Find the area of the sector of a circle of radius 7 cm and of central angle 90°.
Also, find the area of corresponding major sector. 3

27. If o, P are zeroes of the quadratic polynomial x* — 5x + 6, form another

quadratic polynomial whose zeroes are é,é . 3
28. A die is rolled once. Find the probability of getting : 3

(1) an even prime number.
(1) anumber greater than 4.
(ii1) an odd number.

2
29. Prove that w =sec’ A—1 3

1+cot’A

30. (A) Prove that the lengths of tangents drawn from an
external point to a circle are equal. 3
OR
(B) Two concentric circles with centre O are of radii 0
3 cm and 5 cm. Find the length of chord AB of
the larger circle which touches the smaller circle

31. (A) If we add 1 to the numerator and subtract 1 from the denominator, a

fraction reduces to 1. It becomes L if we only add 1 to the

2
denominator. What is the fraction ? 3
OR
(B) For which value of ‘k” will the following pair of linear equations have
no solution ? 3

3x+y=1
Rk-Dx+(k-1)y=2k+1

430/4/2 9 23 [P.T.O.
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« e - Y

TUg - ¥ H 4 -IW (LA) TR & T g 3R Tcdeh U9 5 37k 1 2|

(A) T A.P. foreh g 3R e’ ug shR: 14 3R 18 2, % U8l 51 9al
I FTa I

32.

33.

34.

3S.

S

(B) T A.P. &I Ugdl Ug 5, 3Af=H g 45 TR |l ugl =1 AN 400 7| Ui 6
TEAT 3R 91e Al [T iy

fr=r feu sea ° e wer & 30 fomnfea o v s <=u e mn R

R
(fepmm. @)

40-45

45-50

50-55

55-60

60-65

65-70

Torenfera
& g

2

3

Torenfei =1 Aegss wR F1d HifSu)

T M forgd 9 O Ut Sy o o 9T H sHd 9
T & U Siger @ 8| U8 U S’ o StE o
&= SRR 3R g1 BRl o1 feemn st 2

éaﬂwwaﬁamﬁ7ﬁ.aﬁtsaﬁﬁw%ﬁ.

2l

AR F FA I &FFA AT AFA [ HINT

TR 50 % ARG I, T MR e &+

R & SFguTa oft A i

7
{\

7 .

(A) T THAA S W @l ¥R it sEn 3w feufa § 40 . il o6 A
STt @ S gd 1 3FAr (altitude) 60° & weR 30° 7 ST 81 HHER hit

$aTE 14 i)

YT

(B) 7 M. 39 Wod & I A T et TR o WG 1 33947 F07 60° 7 IR
THeh UTE 1 STTHA IV 45° | (G il HaT8 ATd it
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SECTION - D
Section - D comprises of Long Answer (LA) type questions of S marks each.

32. (A) Find the sum of first 51 terms of an A.P. whose second and third terms

are 14 and 18, respectively. 5
OR
(B) The first term of an A.P. is 5, the last term is 45 and the sum is 400.
Find the number of terms and the common difference. 5

33. The distribution below gives the weights of 30 students of a class. Find the

median weight of the students : 5
\erlli}{lt 40-45 45-50 50-55 55-60 60-65 | 65-70 | 70-75
Number

of Students 2 3 8 6 6 3 2

34. The boilers are used in thermal power plants to store
water and then used to produce steam. One such boiler
consists of a cylindrical part in middle and two
hemispherical parts at its both ends.

Length of the cylindrical part is 7m and radius of

cylindrical part is %m

Find the total surface area and the volume of the
boiler. Also, find the ratio of the volume of cylindrical
part to the volume of one hemispherical part. 5

—
35. (A) The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude is 30° than when it was 60°. Find the
height of the tower. 5
OR
(B) From the top of a 7 m high building, the angle of elevation of the top of

a cable tower is 60° and the angle of depression of its foot is 45°.
Determine the height of the tower. 5

7m

/” \\
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T ug - 3
WU - T 3 TR{UT LT / UEDe T T9 g o Uedieh & 4 31k 2|

36. = = foat don seRfoR w1 eamgEs qRaw SR gl % I G

S 4.8 GH. R
85°

%
=t
105"
g 2.4 wHI.
% (1) & (ii)
CERCH
D 3.5 91, C S 3 9. R
| L] H| L]
: g E :

(i) g fua= Ay e gF1 STehfaar e ey 2
(i) g fo= wase e g1 sefoar gatmaw £
(iii) (a) Fag ST for watmam fger gaey off g g weg fauda 72
rorE
(b) T TmEY Byl ot watmaw g9 % fow &9 @ *9 F= Rk fen g
feu ?

[EEE
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SECTION - E

Section - E comprises of 3 Case Study / Passage Based questions of 4 marks
each.

36. Observe the figures given below carefully and answer the questions :

Figure A
D 2.4 cm C S 4.8 cm
85°
g
=+
105°
P 2.4 cm
A (i) A (i)
Figure B
D 3.5cm C S 3 cm R
| L] | L
: : ;
[anl [an] [an' (an]
1 [ 1 []
A 3.5cm B P 3cm Q
B (iii) B (iv)
Figure C

(1) Name the figure(s) wherein two figures are similar. 1
(1) Name the figure(s) wherein the figures are congruent. 1
(1) (a) Prove that congruent triangles are also similar but not the
converse. 2
OR
(b) What more is least needed for two similar triangles to be
congruent ? 2

430/4/2 13 23 [P.T.O.
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37. AR %3 HAl de WIEEA Shid T TEHTA i T SAT@i H UTHT FASAR R
fir @ 81 oar 21 9= e “PUBG” @or R ofd o Sl ®, Sedl &
TEwE & 9d @l PUBG @ & R'%
UM & SR H AT STrReehdl D(1, 5) C(7,5)
M & fau, s fomme™ ‘BAN
PUBG’ &fWa= g& i el BAN PUBG
a1 7, o = # e &
AN Tt S Sl haEdT 2| hem BAYE K10
X & U foemeff gro s 8 tfimm _
et fomr o et T ) X' AGLD B

SUUTH AHHR o YR T, 7 I & 3 G
(i) foot AC @ BD & wfteaed foag & fcdames qma $ifs)
(i) fe=rut AC it ararg 31a Hifs)
(iii) (a) AR Tt ABCD &1 &% [1d shiferg|
rere
(b) S AB &l @18 o1 31U, faepof AC it araé @, 7ma fifvg

38. @eft s Swufg Y Ul w1 TR
AT TTEdl 8| TSI & Yid e gH
& HHT, 98 Ul H hadl B & TOE
F HEa A 2l T8 36 T AR 60
¥t Gliedt 3 3R Heh! THEEH AT A
& 24 1 ol i R)

SUH THHRT o ATYR T, 7 I & 3 N

(i) ferepam foran eafafy, weft sl o wedt B °

(i) weeh 3Afafer =i feha T 3N el wTH B P

(iii) (a) 3fE G 42 W IR S A&, AT AleThRaA fohaq AT I8 THEA
L TRt B 7

rere
(b) IfE 1 &5 el H YeF 60 %., 1 Td & oI 15 & AR 1 W &

Ted 20 %. 7, A1 60 ohel, 36 T 3R 42 AW WEH o fofw ferat Tfyn
= HEAT BRI ?

[EEE
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Use of mobile screen for long hours makes your eye sight weak and give you
headaches. Children who are addicted to play “PUBG’’ can get easily
stressed out. To raise social +Y

awareness about 1ill effects of D(1, 5) C(7,5)
playing PUBG, a school decided
to start ‘BAN PUBG’ campaign,
in which students are asked to BAN PUBG
prepare campaign board in the &
shape of a rectangle. One such SAVE KIDS
campaign board made by class X
student of the school is shown in A(LL 1) B(7, 1)

the figure. X'« ,

Based on the above information, answer the following questions :
(1) Find the coordinates of the point of intersection of diagonals AC and
BD.
(i) Find the length of the diagonal AC.
(i) (a) Find the area of the campaign Board ABCD.
OR
(b) Find the ratio of the length of side AB to the length of the
diagonal AC.

Khushi wants to organize her birthday
party. Being health conscious, she
decided to serve only fruits in her
birthday party. She bought 36 apples
and 60 bananas and decided to
distribute fruits equally among all.

Based on the above information, answer the following questions :

(i) How many guests Khushi can invite at the most ?

(i) How many apples and bananas will each guest get ?

(i) (a) If Khushi decides to add 42 mangoes, how many guests Khushi can
invite at the most ?

OR
(b) Ifthe cost of 1 dozen of bananas is I 60, the cost of 1 apple is I 15

and cost of 1 mango is I 20, find the total amount spent on
60 bananas, 36 apples and 42 mangoes.

EEE=
430/4/2 15 §§Q
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